HIGHWAY HAWIC Extreme fatbar <338

=

o . Moo ;y//r I e /
t/'gi}/’;fﬁ/‘y "/v/’ GO A

SOy V//“/ elironny

HIGHWAY HAWIK
s

Components

Extreme Fatbar 238 1x

Bolt M6 x 70

Washer M6

W IN |-

Bush @20 x 5

RIR (R

Bolt size / thread | Steel | Steel 8.8 [Stainless

MS 6NmM 9Nm 4Nm
MéE 10Nm | 15Nm 7,5Nm

M8 25Mh | 37Nm 18Nm

M10X1.25 ' 37%% | 83Nm | 37Nm

M12X1.25 10INm| 149Nm 71Nm

M12 87Wm | 130Nm 62Nm
Please check all fixings and mounting points © Motorrad Burchard GmbH advises installation by a professional mechanic. © Motorra d Burchard GmbH

before assembly as listed on the mounting instrucion sheet. We do not accept responsibility for improper installation. Le mgo - Germa ny




